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BCM 2C 02—MARKETING MANAGEMENT
(Multiple Choice Questions for SDE Candidates)
Which of the following is not included in the function of physical supply ?
(A)' Standardization. (B) Transport.
(C) Storage. (D) Packaging.

All forces or factors that effect marketing policies, decisions and operations of a business constitute

(A) Marketing mix. (B) Marketing environment.
(C) Marketing control. (D) None of these.
An oil marketing company in its ad asks consumers to save oil. It is engaged in :
(A) Maintenance marketing. (B) Remarketing.
(C) Developmental marketing. (D) De marketing.
Who has coined the term USP ?
(A) Rosser reeves. (B) Peter drucker.
(C) Theodore levitt. (D) None of them.

The way a product is defined by consumers on important attributes is called :

(A) Position. (B) Segment.

(C) Target. (D) Strategy.
Dividing buyers into groups bésed on their knowledge, attitude, uses or responses to a product is
called : ’

(A) Geographic segrnentation'. (B) Demographic segmentation.

(C) Psychographic segmentation. (D) Behavioral segmentation.

Products that the consumer purchases frequently after comparing suitability, quality, price and
style are called :

(A) Convenience products. (B) Shopping products.

(C) Speciality products. (D) Consumer products.
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8. The most basic level of a product is called :
(A) Core product. (B) Actual product.
(C) Basic product. (D) Fundamental product.

9. Abrand created and owned by the producer of a product or service is called :
(A) Private brand. (B) Manufactured brand.
(C) Store brand. (D) Licensed l.)rand.

10. In consumer goods which is described as a silent salesman :-
(A) Price. (B) Advertisement.
(C) Packaging. (D) Sales promotion.

11. The consumer does not know whether to buy thoothpaste, mouthwash, or an antiseptic gargle, or

some mint. It suggests that he want to seek :
(A) Tangible benefits. (B) Intangible benefits.
(C) Augmented product. (D) Single product with multiple features.
12. Which of the following is not a stage in the new product development ?
(A) Generating product ideas. (B) Screening- ideas.
(C) Grading. (D) Market testing.
13. Whichi'of the following is the largest retail enterprise in the world ?
(A) Kmart. (B) Walmart.
(C) Shoppers shop. (D) None of these.
14. Direct marketing is found more suitable to which of the following products :
(A) Agricultural products. (B) TV.
(C) - Shoes. (D) Vacuum cleaner.
15. How do manufactures reach ;iirectly to customers ?
(A) Factory outlet. (B) Wholesalers.

" (C) Independent retailers. (D) None of these.
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The type of advertisement used when the produﬁt ehte;'s into growth stage of PLQ is known as :
(A) Reminder advertising. (B) Primary advertising.
(C) Selective advertising. (D) None of these.
The concept of UPS was introduced by :
(A) Theodore levitt. . (B) NH borden.
- (C) Rosserreeves. (D) None of them.
Which of the following is not a tool of consumer promotion ?
(A) Samples. (B)- Discounts.
(C) Coupons. (D) Buying allowance.

The personal selling step in which the sales person asks for an order to the customer is classified

as:
(A). Shipper approach. (B) Handling 'shipment.
(C) Closing. (D) Follow up.
The pricing strat:;egy used to set pfices of the products that are must be used with the main product
is called :
(A) Optional product pricing. (B) Product line pricing.

(C) . Competitive pricing. (D) Captive product pricing.
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Part I

Answer all questions.
Each question carries 1 mark.

(A) Choose the correct Answer :
1 Goods which are purchased for final consumption known as :
“(a) Producer goods. (b) Consumer goods.
(¢) Industrial goods. (d) None of these.
2 Which of the following is the pricing strategy for new product ?
(a) Price skimming. (b) Negotiated price.
(¢) Variable pricing. (d) Sealed bid pricing.

3 Which of the following is not an element of marketing mix ?

(a) Price. (b) Popuiation.
(c) Promotion. (d) Product.
4 is the strategy to promote the relationship with the customers to increase
sales
(a) TQM. (b) PSS.
(c) HMS. (d) CRM.

5 Penetration pricing strategy is used for :
(a) Existing product. (b) New product.
(c) Outdated product. (d) None of these:
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24

Place where buyers and sellers are in contact with each other is known as:
In modern marketing ———————— is the king ?

Anything that can be offered to a market to satisfy the needs of a customer is
Composite product offered for sale by a business unit is :

Transportation creates —— utility.

C 4055

(10 x 1 = 10 marks)

Part II (Short Answer Questions)

Answer any eight questions.

Each question carries 2 marks.
What do you mean by market segmentation ?
What is industrial goods ?
What do you mean by product simplification ?
What do you mean by geographical pricing ?
What are the tools involved in promotion mix ?
What is distribution channel ?
What do you mean by Tele marketing ?
Mention any two features of modern marketing ?
What is economic segmentation ? ~

What do you mean by consumer behavior ?

(8 x 2 = 16 marks)

Part III (Short Essays)

Answer any six questions.

Each questidn carries 4 marks.
What are the objectives of marketing ?
What are the benefits of market segmentation ?
Explain the features of a product.

Explain the significance of pricing of a product.
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Explain the importance of advertising.
Briefly explain the factors determining the channels of distribution.
What are the benefits of e-marketing ?
Mention the different techniques of sales promotion at consumer level.
(6 x 4 = 24 marks)
Part IV (Long Essays) ‘

Answer any two questions.
Each question carries 15 marks.

What is consumer behavior ? Explain the various factors influencing the customers’ buying
behavior.

What do you mean by product development ? What are the stages involved in new product
development ?

Define Advertising. Explain the different kinds of advertising.

(2 x 15 = 30 marks)
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Marketing is a process.
(A) Goal oriented. (B) Exchange.
(C) Social. (D) All of these.

All forces or factors that effect marketing policies, decision, and operation of a business
constitute :

(A) Marketing mix. (B) Marketing environment.

(C) Mai'keting control. (D) None of these.

— concept is based on the principle that marketing is not a department but it is
pervasive throughout the company.

(A) Production. (B) Holistic.

(C) Modern. . (D) Selling.

Branding is a function of
(A) Research. (B) Exchange.
(C) Physical supply. (D) Facilitating.
Market where there is no physical delivery of goods :
(A) Future market. (B) Spot market.
(C) Perfect market. (D) None of these.
Products designed to meet global segments :
(A) Local Products. (B) Multinational Products.
(C) International Products. (D) Global Products.
Brands owned and developed by producers are known as :
(A) Manufacturer brands. (B) Individual brands.

(C) Family brands. (D) Dealer.
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8. Which of the following is not a limitation of branding ?
(A_) It is expensive. (B) It reduces selling efforts.
(C) It promotes unfair competition. (D) It leads to brand monopoly.
9. Setting price on the basis of the competition for the product is known as :
(A) Cost Based Pricing, (B) Demand Based Pricing.
(C) Competition Based Pricing. (D) Value Based Pricing.
10. Which of the following is not a method of cost based pricing ?
(A) Cost Plus Pricing. (B) Marginal Cost Pricing.
(C) Differential Pricing. (D) Target Pricing.
11. Which of the following is a method of Competition Based Pricing ?
(A) Going Rate Pricing. (B) Sealed Bid Pricing.
(C) Customary Pricing. (D) All of these.
12. Multilevel marketing is also called :
(A) Pyramid selling. (B) Hybrid selling.
(C) Horizontal selling. (D) None of these.

13. The strategy of using as many out lets as possible is called :

(A) Intensive distribution. (B) Cohesive distribution.
(C) Wide distribution. (D) All of these.
14. : means the set of marketing interme_adiaries through which the goods flow from

the producer to consumer.
(A) Channel of distribution. (B) Direct marketing.

(C) Intensive distribution. (D) None of these.

15. Selling includes
(A) | Advertising. (B) Transfer of title from the seller to the buyer.

(C) Sales promotion. (D) None of these.
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If advertising give focus on a particular product or brand, it is known as :
(A) Product advertisement. (B) Market advertisement.
(C) Institutional advertisement. (D) None.

Advocacy advertising is also called :
(A) Support advertising. (B) Rapport advertising.

(C) Cause advertising. (D) None of these.

is all the written or spoken matter in an advertisement expressed in words or
sentences and figures designéed to convey the message.

(A) Matter. (B) Ad medium.
(C) Ad copy. (D) None of these.
Which of the following is a .fnaj_or advantage of personal selling ?
(A) Targeted message. (B) Reach and frequency.
(C) More sales. (D) None of these.
Which of the following is not responsible for the emergence of relationship marketing ?
(A) Growth of servicé economy.
(B) Rapid technological advancement.
(C) - An increase in the level of customer awareness and education.

(D) Changing role of woman.
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Part A

Answer all questions.
Each question carries 1 mark.

A) Choose the correct answer :

1 Direct mail advertising is done through :
a) Radio. b) Television.
¢) Displays. d) Saleletters.

2 Which of the following is not a level of market segment ?
a) Segment marketing. b) Target marketing.
¢) Niche marketing. d) Local marketing.

3 The most basic level of a product is called :
a) Core product. b) Actual product.
¢) Basic product. d) Fundamental product.

4 Which of the following is the largest retail enterprise in the world ?
a) Spenser. b) Walmart.
¢) Murray’s. d) Shoppers stop.

5 -Which of the following is NOT a service innovation strategy ?
a) Branded service innovation. b) Established service innovation.
¢) Incremental service innovation. d) Radical service innovatidn.

B) Fill in the blanks :
6 Rural markets have —— demand.

7 Transport eliminate the barriers of
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is a strong feeling, instinct or desires that make the buyer buy a product.'

In marketing terms, ———_ yefers to what we get for what we pay.

marketing is based on interactions and dialogues.

Part B (Short Answer Questions)

Answer any eight questions.
Each question carries 2 marks.

What is target marketing ?

Describe consumer behaviour.

What do you mean by product planning ?
What is meant by segment redefinition ?
What is sales promotion ?

What are shopping good ?

Explain product concept of marketing.
Differentiate between packing and packaging.
What is markup pricing ?

What do you mean by viral marketing ?

Part C (Short Essay Questions)

Answer any six questions.
Each question carries 4 marks. -

Write a short note on marketing mix.

Why does a customer buy a product ?

What is direct méfketing ? Explain its different forms.

What do Srou mean E - Advertising ? List out its mérits and demerits.

What is service marketing mix ? List out its components.

(10 x 1 = 10 marks)

(8 x 2 = 16 marks)

What are industrial goods ? What are the product and market characteristics of such goods ?

What is rural marketing ? Explain outstanding features of rural markets ?

Describe the bases of market segmentations.

'

(6 x 4 = 24 marks)
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Part D (Essay Quéstions)

Answer any two questions.
Each question carries 15 marks.

What is meant by PLC ? Explain the prospects and problems of PLC.

Who is a marketing manager ? Point out the challenges faced by them in the liberalized
Indian economy. How they can be cured ?

What is environment ? How do you define Indian marketing environment ? What are its
components ? '

(2 x 15 = 30 marks)
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The closing balance in the creditors account can be ascertained from the :

(A) Cash account. (B) Total creditors account.
(C) Closing statement of affairs (D) None of these.

Amortization is related to :

(A) Tangible fixed asset. (B) Intangible assets.

(C) Any fixed asset. (D) None of these.
Loss on sale of machinery should be written off against :

(A) Security premium. (B) Sales account.

(C) Depréciation fund account. (D) None of these.

When provision for depreciation account is maintained, the amount of depreciation is debited to :
(A) Asset account.
(B) Depreciation account.
(C) Provision for depreciation account.
(D) None of these.

Share application is classified as :

(A) Real account. (B) Personal account.

(C) Impersonal account. (D) Nominal account.

The excess price received on the par value of shares should be credited to :

(A)  Calls in advance account. (B) Reserve capital .

(C) Security premium account: (D) None of these.

The rate of interest a company can charge on calls in arrears according to Table A of the companies

actis:
(A) 10 %. B) 6 %.

) 5 %. (D) None of these.
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8. When shares are forfeited the share capital account is debited by :

(A) Paid up amount. (B) Called up amount

(C) " Callsin arrears. (D) Nominal value of 'such shares.

9. Dividends are usually paid on :

(A) Authorized capital. (B) Issued capital.

(C) Called up capital . (D) Paid up capital.

10. Unclaimed dividend is shown in the balance sheet under the head :

(A) Current liability. (B) Unsecured loan.

(C) Reserve and surplus. (D) Provision.
11. The global key professional accounting body is :

(A) Internal accounting standards board.

(B) The institute of chartered accounfants of india.

(C) The financial accounting standards board.

(D) The international accounting standards committee.

12. The international accounting standards committee was set up in —
(B) 1976.

(A) 1982.

(C) 1967. (D) 20009.

18. The liability of shareholders of a company is

(A) Limited. (B) Unlimited.

(C)  Uncertain. (D) None of these.
14. The profit on reissue of forfeited shares is transferred to

(A) General reserve. (B) Capital Redemption reserve.

C 4053-A

(D) Investment Allowance reserve.

(C) Capital reserve.
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The security premium account is shown in the balance sheet under the head ———.

(A) Share capital. (B) Reserves and Surplus..
(C) Secured loans. (D) Current liabilities.
The shares of a company only can be forfeited after giving a ———— days notice.-
(A) 21. (B) 14.
) 7. (D) 30.

The allotment of shares in case of oversubscription is called
(A) Pro-rata allotment. (B) Private Placement.

(C) Offer for sale. (D) None of these.

An item which may or may not be the liability of the company due to happening of certain event
is

(A) Current Liability. (B) Fixed Liability.

(C) Contingent Liability. (D) None of these.

Realisation Account is a

(A) Real Account. (B) Personal Account.
(C) Nominal Account. (D) Suspense Account.
SLR stands for ———.
(A) Savings Level Ratio. (B) Statutory Liquidity Ratio.

(C). Standard Liquidity Ratio. (D) None of these.
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Part 1

Answer all questions.
Each question carries 1 mark.

According to Sec. ————— of the Banking regulation Act, 1949, no banking company shall pay
any dividend on its shares until its capitalised expenses-have been completely written off.

(a) 17. (b) 16.

(c) 15. (d) 14.

Claims against the bapk not acknowledged as debt :
(a) . Contingent liability. - (b) -~ Current liability.
(c) Lng term liability. (d) Short term liability.
The method of rapid posting from slips :
(a) Direct posting. (b) Short cut posting.

(c) Slip system of posting. (d) Convex posting.

method is an accelerated depreciatioh method that provides greater expenses in the
early years and lesser depreciation expense in the later years of the useful life.
(a) Straight line. (b) Depletion.
(¢)  Double-declining balance. (d) Sum of years digit.
is the systematic allocation of the cost of an intangible asset to expense.
(a) Fluctuation. (b) Depreciation.
(c) Amort@zation. (d). Depletion.
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It is the share of profit which a policyholder gets from the insurance company :
(a) Premium. ' (b) Bonus.
(c) Annuity. (d) Claim.
A policy which runs for a fixed period or up to a particular age of the insured :
(a) Whole life policy. (b) With profit policy.
(c) Without profit policy. (d) Endowment policy.
The statement prepared by life insurance company to find out the profit :
(a) P&Lale. (b) Consolidated Balance Sheet.
(c) Common Size Balance Sheet. (d) Valuation Balance Sheet.
Gross profit (or gross loss) = ?
(a) EBIT - Tax. (b) Net sales - Cost of goods sold.
(c) Net sales + Cost of goods sold.. @) Operating profit - operating expenses.
Balance sheetis a statément showing the assets and liabilities of a business :
(a) For a particular year.
(b) For a month.
(c‘) During the life time of tl_le business.
(d) On a particular date.
(10 x 1 = 10 marks)
Part I

Answer any eight questions.
Each question carries 2 marks.

Discuss the need for depreciation.

What do you mean by Life Assurance Fund ‘7

What do you mean by contingent liability ?

What are the objectives of preparing a trading account ?
Discuss the treatment of outstanding expanses.

How will you treat the proprietor's salary ?



17.
18.
19.

20.

21.

22.

" 23.

3

How will you compute the profit under single entry system ?

Classify companies on the basis of public investment.

State the Meaning of Rebate on Bills Discounted.

Distinguish between Reserves and Provisions.

Part I11

Answer any six questions.

Each question carries 4 marks.

Calculate Rebate on Bills Discounted as on 31st March 2017.

Date of the bill | Amount'Rs. | Period of the bill | Rate of Discount
20-01-17 | 80,000 5 months . 16%
10-02-17 40,000 4 months 18%
15-03-17 60,000 2 months 15%

C 4053

(8 x 2 = 16 marks)

B. Co. Purchased machinery as follows : Date of Purchase and Cost of Machine (Rs.) 1.4.2006 ->
60,000 ; 1.10.2006 -> 40,000 ; 1.7.2007 -> 20,000

On 1.1.2008 one-third of the machinery which was purchased on 1.4.2006 became obsolete and
was sold for Rs. 6,000. The machinery was to be depreciated by Fixed Instalment Method at 10%
p a. Show how the Machinery Account would appear in the ledger of the Company for the years
2006. 2007 and 2008. Assume that the accounting year of the Company ends on 31st December

every year.

From the following particulars, preparé the P&L account of South Indian General Insurance
Company for the year ended 315*"March, 2011.

Fire
Marine

Accident

Operating profit/loss for the year :

Interest, dividend and rent (gross)

Profit on sale of investments

(Rs. '000)

5,000
7,000
(1,000)
750

200
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4
(Rs. '000),
Profit on revaluation of fixed assets 100
Loss on revaluation of investments A 400
General administration expenses 75
Depreciation of office furniture and equipments 25
P& L a/c balance on 1.4.2010 -~ 120

It is proposed to transfer Rs. 1,00,000 to general reserve after makizig provision for income tax at
45% and for dividend at 15% on equity capital Rs. 10,00,000.

On 1st April, 2009 Agra Bank has Rs. 10,00,000 bills for collection. During 2009-10 it received
further bills for collection amounted to Rs. 15,00,000 and returned dishonoured bills of Rs. 2,00,000
to the customers. Bills collected during the period were Rs. 17,00,000. Record these transactions in
the Bills for Collection (Asset) a/c and Bills for Collection (Liabilities) a/e. A

What do you mean by opening and adjustment entries ?
Discuss the treatment of provision for discount on debtors and creditors.

What will be the treatment of provision for taxation, dividend, interim dividend, final dividend
and unclaimed ?

Explain slip system of accounting and its merits and demerits.

i (6 x 4 = 24 marks)
Part IV

Answer any two questions.
Each question carries 15 marks.

Discuss the role of IASB in accounting for financial instruments.

From the following particulars, prepare the Final accounts of Karma Bank Ltd.

Dr. Rs. Cr. Rs.
Share Capital : 1,00,000 share of Rs. 10 each (Rs. 5 paid up) 5,00,000
Reserve fund 10,00,000
Fixed Deposits - 20,00,000
Savings bank deposits 30,00,000
Current accounts 70,00,000
Borrowe(i from banks 2,00,000




Investment

Premises

Cash in hand

Cash at Bank

Money at call and short notice
Interest accrued and paid
Salaries

Rent

P&L Alc (1.4.2008)

Interest earned

Bills discounted

Bills Payable

Loans, advances, overdraft and cash credits
Unclaimed dividends

Sundry creditors

Dr. Rs. Cr. Rs.
30,00,000
*12,00,000
60,000
28,00,000
30,00,000
2,00,000
80,000
30,000

1,60,000

4,50,000
5,00,000

8,00,000
70,00,000

30,000

30,000

1,51,70,000 | 1,51,70,000

The bank had the bills for Rs. 14,00,000 as collection for its constituents and also, acceptance .

endorsements for them amounting to Rs. 4,00,000.

From the following particulars _extracted from the books of a trader kept under the single er

system you are asked to find out the figure for credit sales and credit purchases by preparing

total debtors account and total creditors account show _also the bill receivable account and }

payable account :

Balance, 1st Jan 2011 Rs:
Total debtors 18,700
Total credifors 8,500
Bills receivable 1,400
Bills payable 900




Cash received from customers

Cash paid to creditors

Discount allowed to customers
Discount received from suppliers

Bad debts written off

Returns to suppliers

Returns from customers

Cash received against bills receivable
Cash paid against bills payable

Bad debts previbusly written off, now received
Bills receivable dishonored

Balance 31st December, 2011 :

Total debtors

Total creditors

Bills receivable

Bills payable

Rs:
46,500

24,720
1,450
950
850
435
945
4,660
2,230
450 -

500

17,800
9,400
350

105
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Income received in advance is :
(A) An income. (B) Aliability.
(C). An asset. (D) Aloss.
Which of the following is not a fixed asset ?
(A) Motor cycles. (B) Furniture.
(C) Inventory. | (D) Free hold property.
The amount of opening stock can be ascertained by preparing :
(A) Memorandum trading account.
(B) Total creditors account.
(C) Total debtors account.
(D) Opening statement of affairs.
The depreciation charged on an asset is debited to :
(A) Asset account. (B) Depreciation account.
(C) Cash account. (D) None of these.
Depreciation arises because of :
(A) Fall in market value of asset. (B) Wear and tear.
(C) Recession. (D) None of these.
If' original cost of an asset is Rs. 60000 and its scrap value is Rs. 10,000, its depreciable cost is :
(A) 70000. (B) 50000.
(C)- 60000. (D) None of these.
Accumulated depreciation is an example of :
(A) An expense. (B) An unrecorded revenue.

(C) Aliability. (D) A contra account.
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8. A newly established company cannot issue shares at par :
(A) Par. (B) Premium.
(C) Discount. (D) . None of these.

9. The number of days required from the time of issue of the prospectus to the complete allotment

should not exceed :
(A) 30 days. (B) 60 days.
(C) 90 days. _ (D) 120 days.
10. The amount set aside to meet the loss of bad debt is :
(A) Provision. (B) Liability.
(C) Reserve. (D) Contingent liability.
11. Which of the following items will be taken in the P/L a/c below the line ?
(A) Provision for taxation. (B) Transfer to sinking fund.
(C) Contribution to PF. (D) Preliminary expenses written off.
12. Banks show the provision for income tax under the head :
(A) Contingent assets (B) Continéent liabilities
(C) Other liabilities and provisions. ~ (D) Borrowings.
13. General insurance policies are taken :
(A) One year. (B) Two year.
(C) Three year. (D) None of these.
14. Which of the following of an insurance company is included in other assets :
(A) Loan to directors. (B) Agents balance.
(C) - Advance tax paid. (D) None of these.
'15. A conceptual framework for accounting is —————
(A) A set of financial statements. -
(B) A sef of rules governing financial reporting.
(C) A set of components of financial statements.

(D) A set of principles underpinning financial reporting.
’ Turn over
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is that portion of capital which is called up only on winding up of the company.
(A) Authorised Capital. (B) Issued capital.
(C) Subscribed capital. (D) Reserve capital.
A bundle of fully paid shares is called
(A) Stock. (B) Sweat Equity.
(C) Warrant. (D) None of these.

On an equity share of Rs. 20, the company has called up Rs. 16 but Rs. 14 has been received by the
company, the share capital account should be credited by

(A) Rs.20 (B) Rs. 16.
(C) Rs. 14. (D) Rs.6.
When shares are issued at a price higher than their face value, it is called issue at —————.
(A) Par. (B) Pfemium.
(C) Discount (D) None of these.
Preference shares cannot be redeemed at
(A) Par. (B) Premipm.
(C) Discount. (D) All of these.
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Part A

Answer all questions.
Each question carries 1 mark.

I. Choose the Correct Answer :
1 The original cost at which an asset or liability is acquired is known as
(a) Amortization. (b) Replacement cost.
(c) Historical cost. (d). . Carrying cost.

2 The International Accounting Standards Committee was set up in the year

(a) 2009. (b) -~ 1982.
(c) 1967. (d) 1976.

3 —— is the dividend which is declared before preparing final accounts.
(a) Unclaimed dividend. (b) Interim dividend.
(¢c) Final dividend. (d) Proposed dividend.

.4 Income and expenditure account is a ————— account.

(a) Real. (b) Nominal.
(c) Personal. (d) None of these.

5 Cost of goodé sold =
(a) Net profit — gross profit. (b) Sales + purchases.
(c) Sales - gross profit. (d) Purchases — gross profit.

II. Fill up the blanks :
6 Interest paid on money borrowed for construction is a —————— expenditure.

7 The process of converting foreign subsidiary financial statements into the home currency is

known as
Turn over
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Under ———— method the cost of asset cannot be reduced to zero.
Under ———— system only the accounts relating to debtors and creditors are maintained.
Equity shares were formerly known as

(10 x 1 = 10 marks)
Part B (Short Answer Questions)

Answer any eight questions:
Each question carries 2 marks.

‘What is double-entry system ?

What do you mean by capital reserve ?
Define Intangible assets.

What do you mean by development cost ?
What are temparory differences ?

What is sinking fund ?

What do you mean by non-trading concern ?
What are secured debentures ?

What is scrip dividend ?

What are preliminary expenses ?

(8 x 2 = 16 marks)
Part C (Short Essay Questions)

Answer any six questions.
Each question carries 4 marks.

Explain the limitations of single entry system.

Explain the objectives of financial statements.

Calculate the cost of purchase of inventories that should be include in purchase cost ?
Purchase price - Rs. 2,50,000

Penalty charges - Rs. 5,000

Discount on purchase price - 3% on purchase price

Travel expense - Rs. 8,000

Vat - 2% on purchase price

Import duty - Rs. 10,000

Forwarding charges - Rs. 2,000
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Transport Insurance - Rs. 2,000

Storage cost - Rs. 6,000 .

Cost for letter of reference - Rs. 1,000

Internal transport cost - Rs. 3,000

Commission and brokerage - Rs. 5,000

Distinguish between equity shares and preference shares.
What are the objectives of financial reporting ?

From the following information find out opéning stock. Also prepare memorandum trading

account :

Sales - 2,00,000
Gross profit - 25% on sales
Purchases - 1,50,000
Closing stock - 25,000

An entity’s Plant; Property Equipment carrying value - Rs. 12,00,000
Revalued at Rs. 16,00,000
Rate of tax 30%
What is the deffered tax liability and pass necessary journal entries ?
Distinguish between depreciation and depletion.
(6 x 4 = 24 marks)
Part D(Essay Questions) .

Answer any two questions..
Each questions carries 15 marks.

From the following trial balance as on 315t December 2016 of Mr. Abdul Majeed prepare final
accounts :

Particulars , Debit Particulars Credit
Opening stock 8,000 | Sales 50,000
Purchases 24,000 Purchase Returns 2,910
Saleé returns 2,700 Capital 10,000

Turn over
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Particulars Debit Particulars Credit

Wages 1,000 Creditors 12,000
Carriage 1,400
Coal gas and water 600
Trade expenses 1,000
Stationery 1,400
Land : 10,000
Drawings . 200
Plant 8,000
Cash 4,400
-Debtors 2,000
Investments 7,810

74,910 74,910

Closing stock Rs. 12,000

From the following data prepare a cash flow statement using the direct method :

Opening cash balance - Rs. 500
Issue of equity shares - Rs. 3,000
Payment to suppliers - Rs. 20,000
Purchase of fixed assets - Rs. 2,000
Overhead expenses - Rs. 2,000
Taxation - Rs. 2,500

Dividend - Rs. 500

Repayment of loan - Rs. 3,000
Wages - Rs. 1,000

Overheads - Rs. 2,000

Sale of fixed assets - Rs. 1,000
Closing cash balance - Rs. 1,500

Discuss the use of financial statements to different stakeholders.

(2 x 15 = 30 marks)
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BCM 2B 02—FINANCIAL ACCOUNTING
(Multiple Choice Questions for SDE Candidates)

(A) AS4. (B)
(C) AS10. (D)
Net worth of business means :
(A) Total assets. (B)
(C) Equity capital. (D)
Capital account is a :
(A) Fictitious account. B)

(C) Liability account. (D)

Bank loan account is a
(A) Real account. (B)
(C) Personal account. (D)

Accounting records transactions in term of :
(A) Commodity units. (B)

(C) Monetary units. (D)

deals with the depreciation account.

AS6.
AS13.

Fixed assets-current assets.

Total assets-total liabilities.

Personal account,

Nominal account.

Nominal account.

Current account.

Production units.

Expense units.

Expenditure incurred by a publisher for acquiring copyright is a :

(A) Deferred revenue expenditure. (B) Capital expenditure.

(C) Revenue expenditure. (D) Assets.

An expenditure incurred to derive long term advantage is :

(A) Revenue expenditure. (B) Expense.

(C) - Capital expenditure. (D) Deferred capital expenditure.
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Collection of all accounts is called :
(A) Trial balance. (B)
(C) Ledger. (D)
- Special journal is also called :
(A) Journal proper. (B)
(C) Original books. (D)

Allowance made for prompt payment is called :

(A) Cash allowance. (B)

(C) - Trade discount. (D)
Unearned income is a :

(A) Liability. (B)

(C) Expense. (D)

C 4051-A

Journal.

Cash book.

Subsidiary books.

Ledger.

Cash discount.

Discount.

Asset.

Income.

Transactions of a general nature which occur frequently are first recorded in the :

(A) General ledger. (B)
(C) Cashbook. (D)

Receipts and payment account contains :

Special journal.

Subsidiary book.

(A) Only receipts and payment of current year.

(B) All receipts and payments.
(C) Income and expenditure.

(D) All the above.

Incomplete records are maintained usually by a :

(A) Company. (B)
(C) - Sole trader. (D)

Government.

‘Partnership firm.

To find out credit sales which account should be prepared :

(A) Debtors account. (B)

(C) Sales account. (D)

Creditors account.

Purchases account.

Turn over
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Bills receivable as endorsed is debited to :
(A) Creditors account. . (B) Bills receivable account.
(C) Debtors account. (D) Bills payable account.
Rent and rates are apportioned to different departments on the basis of :
(A) Floor area occupied. (B) No. of workers.
(C) Sales of each dept. (D) Value of the assets kept.
The liabilities and assets respectively are Rs. 87,000 and Rs. 92,000 amount of difference will be :
(A) Creditors. (B) Debentures.
(C) Capital. (D) None of these.

The business will continue to operate for an indefinitely long period in the future, unless there is
a good evidence to the contrary this assumption is related to.:

(A) Cost concept. (B) Dual aspect concept.
(C) Matching concept. (D) -None of these.

The account to which the difference in the trial balance is temporarily placed, so that the trial

balance is made totally, such an account is called :
(A) Customers account. (B) Suspense account.

(C) Bank account. (D) Capital account.
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- Section A

Answer all questions.
Each question carries' 1 mark.

1. The ‘going concern concept’ is the underlying basis for :
a) Depreciating fixed asset over their useful lives.
‘b) Disclosing the market valué of securities.
¢) Consolidating the accounts of subsidiary companies with those of parent company.
d) Disclosing the sales and other operating information in the income statement.

2. Excess of income over expenditure of non-trading concern is called

a) Profit. b) - Deficit.
¢) Surplus. d) Loss.
3. The difference between hire purchase price and the cash price is called
a) Hire charges. b) Cost of the asset.
¢) Installment price. d) Cash price.

4. TUnder independent branch system, branch account is a ————— account.

a) Real account. ‘ b) Personal account.

¢) Nominal account. "d) Both Personal account and nominal account.
5. Repair to machinery is apportioned over different departments according to the

a) Number of machines in each department.

b) Value of machinery.

e) Floor area occupied by each machine.

d) None of these. ‘
6. Accounting standard ———— dealé with the Valuation of inventories.

7. On seizure of the goods by the hire vendor, the balance in the asset account is transferred to

Turn over
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8. ——— is the initial payment made at the time of signing the hire purchase agreement.

9. When interdepartmental transfer is made on market price, provision must be made for the
on unsold goods included in the stock lying with the transferee department.

10. The income earned but not received by the end of the accounting year is known as
(10 x 1 = 10 marks)
Section B

Answer any eight questions.
Each question carries 2 marks.

11. What do you mean by Trial balance'? For what purpose it is prepared ?
12. Explain the treatment of the following items in the final accounts of a non-trading concern :
‘ a) Subscription. b) Donations.
13. Briefly explain the following :
a) Memorandum trading account. b) Statement of Affairs.
14. What do you mean by :
a) Cash Price. b) HP Price.
15. Write short note on :
a) Debtors system of branch accounting.
b) Stock & Debtors system of branch accounting.

16. Find the amount of credit sales made during the period 2018 January -December 31 from the
following details :

Debtors as on 31st December 2017 54,000
Debtors és on 31st December 2018 43,500
Cash received 1,84,250
Discount allowed 10,000
Sales returns 4,000
Bills receivables received 42,000
Bills receivables dishonored 3,000
Bad debts written off 2,250

17. A machfnery is sold on HP system. The terms of payment is 5 annual installment, of Rs. 10,000 at
the end of each year commencing from the date of agreement. Interest ig charged @ 10% and is
included in the annual payment of Rs. 10,000. Calculate the cash price of the machine.
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Find out the value of provision for unrealized profit in the case of interdepartmental transfer :

Dept. A Dept. B

Goods transferred from department A - 8000
Purchases 50000 8000
Sales 52000 29000
Closing stock 16000 4000
Gross profit 20000 1300

From the given particulars ascertain the amount of subscription to be credited to income and

expenditure account for the year ending 31st December, 2018 :

Subscription received during the year 10,000

Subscription outstanding on 1st Jan. 2018 Rs. 1,000 of which Rs. 810 were received in 2018
Subscription received in advance on 1st Jan. 2018 3,500

Subscription received in advance on 31st Dec. 2018 1,500

Subscription outstanding on 31st Dec. 2018 2,500

A five star hotel in Kolkatha has 250 rooms out of which 150 rooms are single-bed rooms and 100
rooms are double-bed rooms. On 5th November 2018, 80 single-bed rooms and 60 double-bed

rooms are occupied by the guests. Calculate the bed occupancy rate for the day.
(8 x 2 = 16 marks)
Section C

Answer any six questions.
Each question carries 4 marks.

Briefly explain the foliowing :
a) . Business Entity Concepts. b) Dual aspect Concepts.
¢) Convention of consistency. d) Convention of conservatism.
What do you mean by accounting standards ? What are the needs of accounting standards ?

What do you mean by single entry system ? What are its disadvantages ?

Turn over
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From the following particulars of Central Club, Prepare Income & Expenditure Account for the
year ending 31.03.2018

Subscriptions collected (including Rs. 3,000 for 2017 and Rs. 7,000 for 2019) 50000
Subscription due but not received in 2018 8,000
Donation received . 3,000
Entrance fees (30% to be capitalized) 6,000
Salary paid (including Rs 800 for 2017) 10,000
Salary outstanding for 2018 1,000
Purchase of sports equipments 8,000
Sale of old newspaper 800
Entertainment expenses 800
Tournament expenses 2,000
Rent paid 2,400
Printing & stationery 2,800

Sri C Sharma commenced business on 1-jan-2018 with a capital of Rs. 50,000. On 1st October
2018 he introduced Rs. 20,000 in the business for which Rs. 8,000 were borrowed from his wife
during the year. He withdraw at the rate of Rs. 1,000 4 month. His position on 31st Dec 2018 was

as follows :

Assets

Stock of goods Rs. 25,000 : sundry debtors Rs. 10,000: machinery Rs, 18,000 : cash at bank
Rs. 6,000 : cash in hand Rs. 2,000 : bills receivable : Rs. 5,000 and furniture Rs, 12,000
Liabilities

Sundry creditors Rs. 6,000 : loan from wife Rs. 8,000 : bills payable Rs. 3,000 Ascertain his profit
for the year ended 31 Dec 2018.

Mr. Arun purchased machinery under the HP system from Mr. Babu. The cash price of the machinery
was Rs. 1,50,000. the payment for the purchase is to be made as fpllows: on signing the agreement
Rs. 30,000 ; and Rs. 50,000 each at the end of first year, second year and third year. Calculate the

amount of interest included in each installment.

M/s Giridhar Auto garage have three departments, Viz. Cars & trucks, two wheelers and servicing.

‘The former two sell spare parts and occupy a godown and a showroom. The servicing department

uses a garage and adjoining site. Prepare departmental trading and Profit and loss account for the
year ending 315 March 2019 :
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" Opening Stock :

Cars & trucks 50,000

Two wheelers 13,750
Purchases :

Cars & trucks 1,75,000

Two wheélers 55,000
Sales :

Cars & trucks 3,00,000

Two wheelers 1,50,000

Servicing 50,000

Wages of counter salesman :

Cars & trucks 15,000
Two wheelers 6,000
Wages of garage labour 5,400
Godown and showroom rent 12,000
Garage building 36,000
Garage equipment 50,000

Showroom furniture and fittings 35,000
Power and lighting 18,000
Additional information :
i) Closing stock
Cars & trucks 45,000
Two wheelers 16,250

i) 50% of power and lighting is to be charged to servicing department, the balance equally to
the other departments. ' ‘

iii) Rates of depreciation are :

Building 5%, garage equipment 15% showroom furniture and fittings 10%.

Turn over
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iv) The departments using the showroom share the space and furniture and fittings equally.

28. a) A hotel in Mumbai has 200 single bed rooms and 300 double bed rooms available for letting.

On 26th January 2019 , 420 rooms were occupied by 632 guests. Calculate the double
occupancy rate.

b) A hotel in Kolkatha has 100 single bed rooms , 200 double rooms and 6 dormitories having 9

beds each. On 1st February 2019, 80 single bed rooms, 120 double bed rooms and 2 dormitories
were occupied by guests. Calculate the bed occupancy rate.

(6 x 4 = 24 marks)
Section D

Answer any two questions.
Each question carries 15 marks.

29. The following is the trial balance of Mr. Ram Lal as on 315t December 2018 :

Rs. Rs.
Ram Lal’s Capital 1,73,380
Stock on 1st January 2018 93,600
Sales 7,79,200
Returns inward 17,200
Purchases 6,43,400
Returns outward 11,600
Freight and Carriage 37,200‘
Rent and taxes 11,400
Salaries and wages 18,600
Sundry Debtors 48,000
Sundry Creditors ) 29,600
Bank loan @6% p.a 40,000
Bank interest 1,800
Printing and Advertising 29,200
Miscellaneous income 500
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Rs. Rs.
Cash at Bank 16,000
Discount earned . é,380
Furniture and Fittings 10,000
Discount allowed 3,600
General expenses 22,900
Insurance 2,600
Postage and Telegram 4,660
Cash in hand 760
Travelling expenses 1,740
Drawings 80,000
Total 10,42,660 10,42,660

The following adjustments should be made:

i)
1)
iit)
iv)
V)
vi)
vii) .

viii)

Included amongst the Debtors is Rs. 6,000 due from Mr. Mathew and included among the
Creditors Rs. 2,000 due to him.

Provision for Bad and doubtful debts be created at 5% and Reserve for Discount @ 2% on
sundry debtors.

Depreciation on Furniture and fittings @ 10% shall be written off.

Personal purchases amounting to Rs. 1,200 have been included in the purchases day

‘book. '

Interest on bank loan shall be provided for the whole year.

A quarter of the amount of Printing and Advertising is to be carried forward to the next
year.

Credit purchase invoice amounting to Rs 800 had been omitted from the books.

Stock on 31.12.2018 was Rs. 1,57,200.

Prepare Trading and Profit and Loss Account for the year ended 31.12.2018 and a Balance sheet
as on that date.

Kumar purchased 4 cars at Rs. 1,40,000 each on hire purchase system. The hire purchase price for
all the 4 cars was Rs. 6,00,000 to be paid Rs. 1,50,000 down and three installments of Rs. 1,50,000
each at the end of each year. Interest is charged at 5% p.a. Buyer depreciates cars at 10% p.a on
straight line method.

Turn over
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After having paid down payment and first instalment , buyer could not pay second instalment and
seller took possession of 3 cars at an agreed value to be calculated after depreciating cars at
20% p.a. on WDV method. One car was left with the buyer.

Seller, after spending Rs. 12,000 on repairs sold away all the three cars to Mr. Joy for Rs. 3,50,000.
Show ledger accounts in the books of both the parties.

Calicut Head Office supplies goods to its branch at Kannur at invoice price which is cost plus 50%.

All cash received by the branch is remitted to Calicut and all branch expenses are paid by the
Head office. From the following particulars related to Kannur branch for the year 2018, prepare -

1) Branch Account

ii) Branch Stock account, Branch Debtors Account, Branch Expenses Account, Branch
Adjustment Account in the books of the Head office so as to find out the gross profit and
net profit made by the branch.

Stock with branch on 1.1.2018 (at invoice price) 12,000
Branch debtors on 1.1.2018 2,400
Petty cash balance on 1.1.2018 20
Goods received from head office (at invoice price) 37,200
Goods returned to head office 600
Credit sales less returns 16,800

Allowances to customer on selling price (already adjusted while invoicing) 400
Cash received from debtors 18,000
Discount allowed to debtors 480
Expenses (Cash Paid by Head office)

Rent 480

Salaries 4800

Petty cash __200_ 5,480
Cash sales 20,800
Stock with branch on 31.12.2018(at invoice price) 10,800
Petty cash balance on 31.12.2018 20

(2 x 15 = 30 marks)
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Mumtaj died. The emperor built. up a palace over her tomb. It took 22 years to build
this palace. Twenty crores of rupees were spent for the construction. The palace is so
beautifully made that people from all over the world visit it. It is made of pure white
‘marble.The monumental palace stands on the banks of Yamuna in Agra. We feel very
joyful to see the palace on a full-moon night. It is called Taj Mahal and it is one of the
wonders of the world.
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ENG 2A 04—ZEITGEIST : READING ON CONTEMPORARY CULTURE

(Multiple Choice Questions for SDE Candidates)
1. Who is Josephine in the short story “ The story of an hour” ?

(A) Mrs. Mallard’s cousin. (B): Mrs. Mallard’s sister.

(C) Mrs. Mallard’s daughter. (D) Mrs. Mallard’s mother.
2. Kate Chopin's first novel ?

(A) The awakening. (B) The dragon seed.

(C) AtFault. (D) The slave.

3. Inthe short story “The story of an hour” the open window is a symbol of ——.

(A) Peace. (B) Agony.
(C) Freedom. ‘(D) Sorrow.
4. Name of the poem which is about extreme right wing politics of Donald Trump ?
(A) Refugee Blues.
(B)  The not yet burning country.
(C) What it's like to be Transgender ?

(D) None of these.
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5. Inthe poem “What it’s like to be Transgender” where did the speaker make his first prayer ?

(A) In the garden. (B) From the school.
(C) In his house. (D) In a glass stain cathedral.
6. Who is the founder of Vocal revolutionaries ?

(A). Lee Mokobe. ) (B) W. H. Auden.

(C) Nadine Gordimer. (D) Gieve Patel.

‘7. In the poem “Refugee Blues”. What was the refugee offered by the committee ?
(A) A new passport. (B) A gift.

(C) A cup of tea. (D) A chair.



10.

11.

12.

13.

14.

Who was the author of “Jane Eyre” ?

.(A) Charlotte Bronte.

(C) Jane Austen.

(B) Emily Bronte.

(D) Nadine Gordimer.

Adrienne Rich's second collection of poetry is

(A) The Diamond Cutter.

(C) Diving into Wreck.

(B) A Change Of World.

(D) Ruins.

Who is the author of “An Atlas of the Early World” ?

(A) W.H. Auden.

(C) P. B. Shelley.

(B) Adrienne Rich.

(D) Robert Frost.
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According to Adrienne Rich, university education implies an ethical and intellectual contract between

whom ?
(A) .Parents and teachers.

(C) Teachers and students.

(B) -Parents and children.

(D) None of these.

Whose convocation speech is “Calming an Education” ?

(A) Adrienne Rich.

(C) Lee Mokobe.

In the short story “Amnesty” the policeman didn’t allow them to the island because :

(A) They didn’t have passport.

(C) Theydidn’t took ticket.

(B) Nadine Gordimer.

(D) Gieve Patel.

(B) They didn’t have a prior permit.

(D) None of the above.

Sharankumar Limbale is best known for his novel

(A) Akkarmashi.

(C) Face to Face.

(B) Joothan.

(D) The pickup.

Turn over
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In the extract “the outcaste” the mother of the narrator looks the leftover food as ———.
(A) Nectar. (B) Waste.
(C) Gift. (D) None of these.
Who said “ my life is my message ?
‘(A) Mahatma Gandhi. (B) Nehru.
(C) Einstein. (D) None.
Pearl S Buck’s essay ‘Should the Assassin of Gandhi be Killed’ isa ———.
(A) Satire. " (B) Editorial.
(C) |Letter. (D) Obituary.
When did India adopt a new constitution ?
(A) 26th ‘January 1950. (B) 15t August 1947.

(C) 37 November 1947. (D) 20%h June 1967.

The tradition of preamble began with

(A) France. (B) Africa.

(C) America. (D) Greece.
Toba means ———— in Punjab.

(A) Kind. (B) Cruel.

(C) Mad. (D) Pond.
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I. (A) Choose the correct answer from the options :

1 Who was the chairman of the Constituent Assembly ?
(a) Dr. S. Radhakrishnan. (b) Dr. Rajendra Prasad.
(c) Dr. B.R Ambedkar. (d) H.C Mukherjee.

2 In which year did Tagore win the Nobel Prize ?
(a) 1913. (b) 1923.
(c) 1933. (d)  1903.

3 Where did Mrs. Mallard go, when she heard the news of her husband’s death ?
(a) To her Room. (b) To bath room.

(c) To prayer-room. (d) To kitchen.

W

In the poem “What it’s like to be Transgender” What does the poet ask Jesus ?

(a) To make him popular. (b) To fix him.

(c) ~To give him wealth. (d) To grand him money.
5 Inthe poem “Refugee Blues” who is looking for the refugees ?

(a) Parents. (b) Cousins.

(c) Soldiers. (d) Colleagues.

(6 x 1 = 5 marks)
(B) Answer all the following questions in a word or a phrase :
6 What is the fate of those who rebel against the lovers of violence ?

7 Why did Hihdulawyer in Asylum go mad ?
Turn over
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8 What does Seattle mean by the smoking iron horse ?

9 Why does the father want to sell Zlateh ?

10 Which was the game played by Wani and Brahmin boys during the picnic ?

(5 x 1 = 5 marks)

II. Answer any ten from the following in one or two sentences :

11
12
13
14
15
16
17
18
19

20

21
22

What is more powerful than bombs and weapons ?

What is the significance of the asylum in the story ‘Toba Tek Singh’ ?

How does the Native American see the rivers and the earth ?

Why does the poet try to teach us how to kill a tree ?

When did Aaron realize that he was no longer travelling on the road ?

Mention one of the devastating weaknesses of the university learning, according to Rich.
Comment on the symbols of the open window in the story “The Story of an Hour.”

What did the nostalgic aunts remind the speaker in Mokobe’s poem at the age of twelve ?

What makes the speaker in ‘Refugee Blues’ to state that there was no place for him and
his beloved? ‘

What, according to the protagonist, is the difference between working in the Movement
and the Union?

What is the politics of separation in playing games as seen in Limbale’s narrative ?
What are Harari’s observations about the French revolution ?

(10 x 2 = 20 marks)

III. Answer any four of the following questions in a paragraph :

23
24
25
26

27
28

Explain the significance of the title “Toba Tek Singh.”
Comment on the passion and feelings conveyed in chief Seattle speech.

Why it is not an easy job to kill a tree ?

The thoughts that flashed through Mrs. Mallard’s mind, after realizing her husband’s
death.

What characterizes the alienation of the Jews in the poem ‘Refugee Blues ?
The discrimination of the Dalits, according to Limbale.

(4 x 5 = 20 marks)
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IV. Answer any two of the following in an essays :

29
30

31

32

Discuss Pear] S. Buck’s portrayal of Mahatma Gandhi in her eésay.

Critically examine the man-animal bond as portrayed in Issac Bashevis Singer’s “Zlateh
the Goat”.

“What It’s like to be Transgender” is a documentation of the identity crisis and the denial
of the basic human rights of the transgender. Discuss.

How does Yuval Harari define meaning of human life and basic human rights ?

(2 x 15 = 30 marks)
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ENG 2A 03—WRITING FOR ACADEMIC AND PROFESSIONAL SUCCESS
(Multiple Choice Questions for SDE Candidates)

is a non-academic material.
(A) Theses. (B) Books.
(C) Seminar. (D) Television.
When an academic paper is written for publication, it undergoes a process known as
(A) Blind Peer Reviewing. (B) Plagiarism.
(C)  Honor Code. (D) Review of Literature.

In an academic essay body paragraphs are

(A) Short. (B) Argumentative.
(C) Long. (D) Attractive.
Papers sent for publication in a scholarly journal undergo : and

(A) Blind Peer Reviewing and Honor Code.
(B) Blind Peer llieviev‘ving and Reading.
(C) Blind Peer Reviewing and Referencing.
(D) Blind Peer Reviewing and Evaluation.

are crucial in determining the type of essays to be produced.

(A) Articles. (B) Question Words.
(C) Adverbs. (D) Introduction.
A research paper is than essay.
(A) Easier. (B) Longer.
(C) Shorter. (D), Tlustrative.

The main purpose of proposal writing practice is to demonstrate your ability to pl‘an for a

(A) Present action. (B) Pastaction.

(C) Case study. (D) Future action.
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8. The main purpose of review of literature as an academic writing activity is to display your

— of the subject.
(A) Knowledge.

(C) Analysis.

9. Research scholars in Social Sciences usually follow

(B) Review.
(D) Summary.

format for documentation.

(A) UGC. (B) ICSSR.
(C) APA. (D) MLA.
10. —————is the main part of an essay.

(A) Introductory paragraph.

(C) Body paragraph.

(B) Concluding paragraph.

(D) Background information.

11. ———in academic writing refers to your reason for writing.

(A) Audience;

(C) Analysis.

12. When you are writing an essay on a novel, the text of the novel is treated as

(B) Topic.

(D) Purpose.

source.
(A) Primary. (B) Second.
(C) Secondary. (D) Tertiary.

13. ————— invites the attention of the reader.

(A) Introductory paragraph.
(C) Body paragraph.

14. The terms and

(A) Rhetoric and rhetorical.
(C) “Rhetorical and critical.

15. N arrati{{es can be classified as

(B) Concluding paragraph.
(D) Content.
refer to the ways you can adopt to communicate effectively.
(B) Rhetoric and analytical.
(D) Rhetorical and informative.

and

(A) Fictional and non-fictional.

(C) Novel and novella.

(B) Novel and fiction.

(D)' Story and poem.

Turn over
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20.
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gives emphasis on convincing reader by substantiating its claim with the help of

sﬁpporting evidence.

(A)
(C)

(A)
(®)

(A)
(&)

Descriptive essay. (B) Argumentative essay.
Definition essay. (D) Cause and effect essay.
is explaining how something works happens or works.
Audience analysis. (B) Textual analysis.
Process analysis. (D) Topic analysis.
1s taken into consideration while selecting examples in an illustrative essay.
Scholars. (B) Teachers.
Source. (D) Audience.

The use of active verbs to create a lasting impression can be seen in

(A)
(®)

(A)
(9]

Definition essay. (B) Descriptive essay.

Analytical essay. (D) Argumentative essay.
descrii)tion is predominantly personal.

Objective. (B) Subjective.

Analytic.: (D) Valuable.
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-I. Answer the following questions. Each question carries 1 mark :

(A) Choose the correct answer :

1 Academic essay usually contains — vocabulary.
.(A) Technical. (B) Non-Technical.
(C) Simple. (D) Slang.
2 ————is a process of inspecting something closely and reflecting on it.
(A) Evaluation. (B) Critical Thinking.
(C) Reviewing. (D) Plagiarism.
3 The key function of ———— is to explain what do you mean by something.
(A) N arration mode. (B) Description mode.
(.C) Definition mode. (D) Process analysis.
4 'AWL in academic writing stands for :
(A) Academic Writers List. (B) Available Work List.
(C) Arranged Work List. (D). Academic Word List.
5 In ——— description writers would not mention how interesting their observations were.
(A) Objective. (B) Subjective.
(C) Analytic. (D) Valuable.

Turn over
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(B) Fillin the blanks :

6 Research scholars in Social Sciences usually follow ———— format for documentation.

7 —————is a group activity conduced at the beginning of a project to generate ideas.
8 ——— essay deals with causes, effects, both cause and effect and a phenomenon.
9 is the punctuation mark used to indicate a contraction or a possession.

10 In an e-mail ‘asap’ stands for

(10 x 1 = 10 marks)

II. Answer any ten of the following questions in two or three sentences each. Each question carries

2 marks :

11 What is ‘blind peer reviewing’ ?

12 What are the popular style guides in use today ?
13 What is parallelism ?

14 What is recommendation report ?

15 Correct parallelism related mistakes in the following sentences :

(a) The State Government plans to construct a new airport near Kottayam, and setting up

a state-of the-art container terminal near Trivandrum.

(b) Amin earns a lot of money from online trading every month, but he is spending all his

earnings by the end of the month.
16 Give one-word substitutes for the following expressions :
(a) Ona daily'basis. (b) Regardless of the fact that.
(¢) The majority of. (d) On a frequent basis.
17 Eliminate wordiness in the following sentences :
(a) It gives me immense pleasure in introducing our esteemed speaker.

(b) I think, in my opinion, study of humanities is very essential for our times.
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18 When do we use the punctuation mark ‘colon’ ?
19 Identify dependent and independent clauses :
(a) We won't change anythiqg unless someone has asked us to.
(b) While walking at the park, John saw an old man feeding pigeons.
20 Give acceptable expressions to the following :
(a) Nigger. (b) Yankee.
(c) Madrassi. (d) Paki.
21 What is a summary ?
22 Punctuate the following sentence :

according to an old chinese proverb the best time to plant a tree was 20 years ago the

second best time is now.

(10 x 2 = 20 marks)
Answer any four of the following questions in a paragraph. Each question carries 5 marks :
23 Discuss the genres in academic writing and their distinctive uses.
24 Write briefly on the sections in a Social Science dissertation.
25 Illustrate the structure of an academic essay.
26 Write a blog on the canteen in your college.
27 Write a reporf on the Environment Day celebrations conducted by your department.
28 Write an emeil congratulating you friend on getting an award.

(4 x 5 = 20 marks)

Answer any two of the following questions in about 300 words. Each question carries 15 marks :

29 Prepare a cover letter and resume to apply for the post of Human Resource Manager in a

business firm.

. Turn over
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30 Write a five paragraph essay on any one of the following topics :
(a) The Power of Education.
(b) Drug Abuse.
(c) Violence among Youth.
(d) Environmental Conservation.
31 Write a full length review of a film you have recently watched.

32 Discuss the step by step process of writing an academic assignment.

(2 x 15 = 30 marks)
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ENG 2A 04—READINGS ON SOCIETY
(Multiple Choice Questions for SDE Candidates)

was described as ‘a rising tide that will raise all boats’.

(A) Globalisation. (B) Liberalisation.

(C) Privatisation. (D) None of these.

is the poverty line calorie requirement.

(A) 1600 k. cal. (B) 2400 k. cal.
(C) 1654 k. cal. (D) 1830 k. cal.
What is PDS ?
(A) Public Development System. (B) . Public Disaster Systems.
(C) Public Distribufion System. (D) None of these.

The narrative technique used in the story Widow is
‘(A) Multiple narrators. (B) Interior monologue.
(C) Third person narrative. (D) None of these.

Who translated the story Widow into English ?
(A) The author himself. (B) Chalam.

(C) Ranga Rao. (D) None of these.

(A) 1938. (B) 1998.

(C) 2000. (D) 2001.

. Which of the following Asian country has got higher women ratio ?
(A). China. (B) Pakistan.

(C) Japan. (D) India.
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Vandana Shiva compares globélisation with a
(A) Tsunami. (B)
(C) Falling tide. (D)

Which is the federal script of India ?

(A) Devanagari. (B)
(C) French. (D)

Dr. Rajendra Prasad was greatly moved
of

(A) Aurobindo. (B)
(C) Igbal. (D)

Rising tide.

None of these.

English.

None of these.

C 4033-A

by the deication, courage and conviction

Ramana Maharshi.

Mahatma Gandhi.

Who said this “Enjoy that which has been given unto you” ?

(A) Shruthi. (B)
(C) Igbal. (D)

(A) Climate. (B)

(C) Poor health and social services. (D)

Economic globalization is a

Rajendra Prasad.

None of these.

‘Which of the following is the reason for lower women ratio in Asia ?

Geography.

None of these.

Co_ld War.

215t century.

According to Dr. Rajendra Prasad, the cultural unity of India is based on an eternal

(A) Pre-historic. (B)

(C) Neo-liberal. (D)
current.

(A) Ethical. (B)

(C) Economic. D)

Financial.

Religious.

The Fall of a Sparrow is the autobiography of
(A)  Dr. Salim Ali. (B)
(C) E. K. Federov. (D)

Dr. Rajendra Prasad.

Kalpana Jain.

Turn over
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is the primary reason for the disappearance of our wild life.

(A) Habitat destruction. (B) Population increase.
(C) Hunting. (D) Decrease in rainfall.
According to E. K. Federov, there are — kinds of factors that cause the climate to

change over long periods of time.
(A) Three. (B) Five.
(C) Two. (D) Four.

The lessons Stigma Shame and Silence and “Yes I am Happy ! Don’t You Believe ?” enrich your
understanding in

(A) Human rights issues. (B) Gender Issues.
(C) Environmental Issues. (D) None of the above.
Who acts as the fulcrum of an opulent family of gold ornament manufacturers in Ollur ?
(A) Thobias. (B) Ouseph.
(C) Rappai. (D) James.
Name the protagonist in Stigma Shame and Silence by Kalpana Jain :
(A) Ashok. (B) Mangamma.
(C) Venkata Rao. (D) Raphael.
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I. Answer the fdllowing. bunches of questions. Each question carries 1 mark :
1 Vandana Shiva compares globalisation with a
(a) Tsunami. (b) Rising tide.
(c) Falling tide. (d) None of these.
2 Which is the federal script of India ?
(a) Devanagari. (b) English. .
(¢) French. (d) None of these.
3 Who among the following is known as the “Birdman of India” ?
(a) Vandana Shiva. (b) - Dr. Salim Ali.
(¢) Dr. Rajendra Prasad. (d) Dr. APJ Abdul Kalam.
4 WWW in Federov’s essay stands for
{a) World War Watch. (b) World Weather Watch.
(c) World Working Wing. (d) Western Water war.
5 How old is the widow in the story ?
(a) 16. (b) 20.
(c) 18. (d) 17.
6 What will be the punishment the widow has to face when her pregnancy is revealed ?
(a) Soodithalu. | (b) Kalagni.
(c) Ostracism. (d) None of these.
7 Which of the following Asian country has got higher women ratio ?
(a) China. . (b) Pakistan.
(c) Japan. (d) India.

Turn over
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The lessons Stigma Shame and Silence and “Yes I am Happy ! Don’t You Believe ?” enrich
- your understanding in

(a) Human rights issues. (b) Gender Issues.
(c) Environmental Issues. (d) None of the above.
Ashok, the victim in “Stigma Shame and Silence” was a ———— in Navy.
(a) Cook. (b) Instructor.
(c) Radio Operator. (d) None of the above.
Who believes that Rappai is the basic element of their prosperity ?
(a) Ouseph. (b) Thobias.
(¢) Santhosh thooval. (d) James.

(10 x 1 = 10 marks)

II. Answer in a sentence or two any ten questions. Each question carries 2 marks :

II1.

11
12
13
14
15
16
17
18
19
20
21

22

What are the suggestions made by Shiva to stimulate the dreams of Indian farmers ?
According to Vandana Shiva, what is the source of our human identity ?

How did India win the hearts of the other people ?

What causes ecological imbalance ?

What does Salim Ali say about the desiccation in North India ?

What is Federov’s definition of climate ?

What is the narrative technique used in the story, Widow’ ?

List out the two simplistic explanations presented to account for the neglect of women.
What is the fate of women in most of Asia and North Africa ?

How did Ashok react to the doctor’s blunt revelation ?

How was Rappai treated in the family ?

What does the article, “Yes I am Happy! Don’t You Believe ?” deal with ?

(10 x 2 = 20 marks)

Answer any four of the following questions in a paragraph of 100 words. Each question carries

5 marks :

23 “India is not a nation ; it is a collection of Nations”. Explain.

24 What are the three strategies recommended by E.K. Federov to stop irreversible climatic
changes ?

95 What does the widow mean by ‘a sin exclusive to us’ ?

26 How did Ashok manage at the end ?
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27 What is the need for Environmental consciousness in agricultural fields ?

28 How does Amartya Sen relate women’s ‘gainful employment’ to variable change in their
destiny ?

(4 x 5 = 20 marks)

IV. Answer any two of the following questions in 300 words. Each question carries 15 marks :

29 How does Vandana Shiva demonstrate impact of Globalization on vulnerable sections of
society ?

30 Write an essay on Salim Ali’s views on the relationship between man and nature.

31 How can women's deal be improved especially in the Third World countries as proposed by
Dr. Amartya Sen ?

32 How does the article “Yes I am Happy! Don’t You Believe ?” relevant in the contemporary
social scenario ?

(2 x 15 = 30 marks)



C 4032-A (Pages : 4) Name...........

SECOND SEMESTER'(CUCBCSS—UG) DEGREE EXAMINATION
APRIL 2021

English (B.Com./B.B.A.)
ENG 2A 03—INSPIRING EXPRESSIONS

(2014 Admissions)
(Multiple Choice Questions for SDE Candidates)

Time : 15 Minutes Total No. of Questions : 20 Maximum : 20 Marks

INSTRUCTION S TO THE CANDIDATE

1. This Question Paper carries Multiple Choice Questions from 1 to 20.

2. The candidate should check that the question paper supplied to him/her contains all the

20 questions in serial order.

3. Each question is provided with choices (A), (B), (C) and (D) having one correct answer.

Choose the correct answer and enter it in the main answer-book.

4. The MCQ question paper will be supplied after the completion of the descriptive

examination.



S

2 C 4032-A

ENG 2A 03—INSPIRING EXPRESSIONS
(Multiple Choice Questions for SDE Candidates)
is a poem written by John Milton.

(A) Journey of the Magi. "(B) Areopagitica.
(C) Lycidas. (D) Luncheon.
On his blindness was written in —
(A) 1644. (B) 1652.
(C) 1655. (D) 1658.
among the following is a romantic poet.
{A) John Milton. (B) Andrew Marvell.
(C) Lord Tennyson. (D) John Keats.
In Memmoriam mourns the memory of
(A) John Keats. (B) Arthur Hallam.

(C) Tennyson. (D) Wordsworth.
is the rocky island referred to in the poem Ulysses.

(A) Ithaca. (B) Troy.

(C) Algeria. (D) Ferrara.

When U"iysses says ‘I will drink/ life to the lees’. He means that he will keep
(A) Ruling. (B) Drinking.

(C) Exploring. (D) Living.
The heated middens in the poem ‘A Summer Poem’ refers to

(A) Embers of coal glowing under the open sky.
(B) Wood fire emitting a cloud of smoke.
(C) Piles of garbage being burnt.

(D) Dry bushes crackling in a forest fire.
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A Rain of Rites is written by ————.

(A) Parthasarathy. (B)

(C) Kamala Das. (D)
Of Human Bondage is written by

(A) Kushwant Singh. (B)

(C) James Thurber. (D)
The term ‘coy’ means :

(A) Beautiful. (B)

(C) Fine. (D)

'Mahapatra.

Eliot.

Somerset Maugham.

Oscar Wilde.

Lovely.

Shy.

According to the poet, rubies would be found in the banks of :

(A) Rhine. (B)

(C) Ganges. D)
“To His Coy Mistress” is written by :

(A) Andrew Marvell. (B)

(.C) Andrew Clapham. (D)
Who among the following is a Victorian poet ?

(A) Robert Browning. (B)

(C) John Keats. (D)
My Last Duchess is an example of :

(A)q Dramatic Monologue. (B)

(C) Ode. (D)

Humber.

Yamuna.

John Keats.

Robert Browning.

P. B. Shelley.

Milton.

Metaphor.

Haiku

C 4032-A
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The listener of a dramatic monologue is usually :

(A) Active. (B)

(C) Duke. (D)

Silent.

Painter.

The theme of “Journey of the Magi” is Taken from :

(A) Bible. (B)
(C) A poem. (D)
The. Jjourney of the Magi was full of :-
(A) Hardships. (B)
(C) Ease. (D)
The ‘old white horse’ is symbolic of :
(A)  Rebirth of Christ. (B)

(C) dJourney of Christ. (D)

Alan Trevor was a
(A) Doctor. (B)
(C) Painter. (D)
The Wasteland was published in the year
(A) 1920. (B)

(C) 1922. (D)

Quran.

None of these.

Coqurt.

Leisure.

Crucification of Christ.

Birth of Christ.

Cobbler.

Beggar.

1921.

1914.
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SECOND SEMESTER (CUCBCSS—UG) DEGREE EXAMINATION
APRIL 2021

English (B.Com./B.B.A.)
- ENG 2A 03—INSPIRING EXPRESSIONS
(2014 Admissions)
Time : Three Hours Maximum : 80 Marks
I. Answer the following bunches of questions. Each question carries 1 mark :—
1 Who was given the nick name ‘Lady of Christ’ ?
(a) Somerset Maugham. (b) dJohn Milton.
(c) Jayanta Mahapatra. (d) TS Eliot.
2 Andrew Marvell belongs to which school of poetry ?
(a) Romantic. (b) Metaphysical.
(¢) Graveyard. (d)  Elizabethan.

3 At the beginning of the poem ‘Ulysses’ the speaker feels

(a) Exhausted. (b) Troubled.
(¢) Dissatisfied. (d) Content.
4 What has the nightingale never known ?
(a) Verdurous glooms and wi.nding mossyways
(b) A beaker full of warm South
(c) The weariness, the fever and the fret
(d): The murmurous haunt of flies on summer eves
5 What does the duke mention as ‘nine- hundred’ years old ?
(a) Family name. (b) Painting.

(c) Sculpture. (d) None of these.
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6 The poet of “A Summer Poem” is a native of
(a) Punjab. (b) Ozxford.
(c) Delhi. (d) Odisha.
7 The poem “Journey of the Magi” opens with the lines by :
(a) Browning. (b) Lancelot Andrews.
(c) Tenﬁyson. (d) Andrew Marvell.
8 How had the narrator of the luncheon became acquainted with the woman in the story ?
(a) They had mutual friends. (b) They had exchanged letters.
(¢) They had met at a play. (d) They were relatives.
9 Hughie Erskine is in love with ?
(a) Baron hausberg. (b) Laura Merton.
(¢) Alan Trevor. (d) Elizabeth laura.
10 Who slept_in the attic ?
(a) Herman. (b) Mother.
(c) Joe. (d) Grandfather.
(10 x 1= 10 marks)
II. Answer in a sentence or two any ten questions. Each question carries 2 marks :
11 What does Milton’s soul wish ?
12 What does the term ‘coy; in the title mean ?
13 Why does Keats wish to fade away with the bird ?
14 Who is Fra pandolf ?
15 What are happy isles ?
16 ‘I should be glad for another death.’ Why does the Magus loné for death ?
17 What are the highlights of an Indian summer as depicted in the poem by Mahapatra ?
18 What is Mr. Lai’s attitude towards his country ?
19 Why did Hughie grow angry with Trevor ?

20 How had the narrator of ‘The Luncheon’ become acquainted with the woman in the story ?



3 C 4032

21 ‘I was past caring now. ‘Why was the narrator of ‘The Luncheon’ in such a state?

22 In the The Night the Ghost Got In’ what had the narrator been doing before he heard the
‘ghost’ ? ' '

(10 x 2 = 20 marks)

III. Answer any four of the following questions in a paragraph of 100 words. Each question carries
5 marks : '

23 Explain the idea of “quaint honour turning to dust” in ‘To His Coy mistress’ ?

24 What were the main grievances that the duke had against his wife ?

25 How does Ulysses describe the island and the people he is ruling ?

26 Write the primary theme of the short story 'Luncheon' by Somerset Maugham ?

27 Does the poem ‘Indian Summer’ portray summer in India as a happy season ?

28 Describe the character of Joe ?

(4 x 5 = 20 marks)

IV. Answer any two of the following questions in 300 words. Each question carries 15 marks :

29 How has the “possession of beauty” been treated in ‘My Last Duchess’ ?

30 What do you think is the central theme of the Ulysses ? How does poet bring\i\'i; to light ?

31 Bring out the contrast between the characters of Mr. Mohan Lal and his wife Lachmi ?

32 Analyse the humour in Somerset Maugham’s short story ‘The Luncheon’ ?

(2 x 15 = 30 marks)



